7
E}?:D ” [NonmMHOMUANIBHOE Pa3IOKEHUE

Ums: Jlata: __ Ouenxa: ____
(> +5)(5x—6)—3¥ —2x— 6 (2x — 6)(3x* +x— 6) — (4x + 5)(x — 1)
Sx+ (2 — x)(2x — 4)(4x + 5) (6x° + 2)(2x —5) + % +5x +5
(x+ 6)(4x* — 3x— 3)— (4x + 3)(3x— 1) @ —2)(x— 1)+ 2% —5x— 4
4+ 3x—4)(5x+6)+2 x5x— 6 x— (64 6x)(4x — 6)(3x—2)
(5x* = 6)(5x —2) + 3 +x— 1 (5x+ 3)(& + 3x + 2) + (6x + 1)(6x + 5)
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Nwms: Jara: Onenka:
o +5)(5x—6) =3¢ —2x— 6 (2x— 6)(3x* +x— 6)— (4x + 5)(x— 1)
5¢ — O +23x— 36 6x> — 20x% — 19x + 41
5x+ (2 = x)(2x — 4)(4x + 5) (6 +2)2x—5) +x* +5x +5
—8x° + 22x% + 13x — 40 120 — 29%% + 9x — 5
(x+ 6)(4x> — 3x— 3)— (4x + 3)(3x — 1) (4> = 2)(x—1)+2% —5x—4
43 + 9x? — 26x— 15 4 — 2% —Tx—2
(2 +3x—4)(5x+6)+2 x5x— 6 x— (6+ 6x)(4x — 6)(3x — 2)
5% + 2152 + 8x — 30 —72x° + 84x* + 85x— 72
(5x% — 6)(5x—2) + 3 +x— 1 (5x + 3)(% + 3x + 2) + (6x + 1)(6x + 5)
25x° — Tx® — 29x + 11 5¢ + 545 + 55x + 11
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